More Stoichiometry: Balance It!
 Balance the equation.  Determine how much of the product would form if 5.7 grams of the diatomic substance was used.  Assume unlimited amounts of the other substance are available.
1. Na + O2 ( NaO
2. Al + N2 ( AlN
3. NH4+ + O2 ( (NH4)2O
4. Hg+4 + I2 ( HgI4
Solve the following problems as directed.  Assume no limited quantities unless otherwise specified.

5. How much sodium would react if 3.1 grams of chlorine were used?

Na  +  Cl  (  NaCl

6. Determine how much carbon monoxide would be needed to produce 12 grams of carbon dioxide.

CO  +  O2  (   CO2

7. If 32 g copper sulfate were used in the following reaction, how much aluminum could be replaced?

Al  +  CuSO4  (  Al2(SO4)3  + Cu

8. How much water could be produced through the oxidation of 26 grams of hydrogen?

H2  +  O2  (  H2O

9. What  would be the limiting factor in the following (which one runs out first) given 23 g NH3 and 40 g H2O?
NH3  +  H2O  (  NH4OH

10. How much copper can be produced from 1.042 kg of copper sulfate using the reaction below?

Zn  +  CuSO4  (  Cu  +  Zn2SO4

11. An automobile uses 12.482 kg of octane on a trip.  How much oxygen is used in the combustion of the octane?

C8H18  +  O2  (   CO2   +   H2O

12. How much sulfur and silicon would you need to get exactly 100.0 g of silicon

disulfide?

Si + S8 ( SiS2
13. If I have 13.4 grams of hydrogen phosphate and 20.3grams of lithium hydroxide, how much water can I produce?  How much lithium phosphate will be formed?

H3PO4 + LiOH ( Li3PO4 + H2O 
